POS

1
2
3
4
5
6
7
8

A DDA DMDOWOWWWWWWWWNDNNDNNMNNMNNRERPREPERPEPRPEPERPRPRER
OB WNOOWOMOODUI,WNPFPOOONUOMANODOO~NOODOPAWNE OO

IDNR
6923
59709
9154
22475
66571
36640
9149
9150
16220
38794
7252
52878
52886
50260
9148
33019
50716
9151
59675
59758
60749
22400
76455
12724
22103
61192
14332
42713
21600
6481
5116
22681
8042
36137
9790
45443
45872
52894
45625
21030
7340

BDB825
BAIER ID-Nr.: 59832

from Masch.-Nr. 26879
also for Id. 10047, 10484 & 8983

DESCRIPTION

DUST SUCTION PIPE CPL.

SPRING CLAMP

OUTPUT SHAFT

BALL 4 DIN5401

CYLINDRICAL PIN 4X18 hardened
CIRCLIP J 47X1,75 DIN472

SHAFT SEALING 30x47x5 DIN3760
CIRCLIP J45x1,75 DIN472

DEEP GROOVE BALL BEARING 6005 LLU
CIRCLIP J42x1,75 DIN472

SHAFT SEALING 30X42X7 DIN3760 VIA
SOFT IMPACT RING SHAFT

SOFT IMPACT HOUSING

SCREW EJOT DELTA PT 5X100 TORXPLUS
GEAR HOUSING

DEEP GROOVE BALL BEARING 6203
CIRCLIP J 40 DIN472

DISTANCE SOCKET 25x16x5,5

GEAR 40z

SHIFT ROD

O-RING 13X2

DEEP GROOVE BALL BEARING 629
COUNTER SHAFT CPL.

FLAT SEALING

CYLINDRICAL PIN 4X16 DIN7

MOTOR COVER

SHIM 16x10x0,5

DEEP GROOVE BALL BEARING 6201 2RS
FAN

ARMATURE 230V

INSULATION RING

DEEP GROOVE BALL BEARING 6200 2RS
AIR GUIDE RING SHORT

SCREW EJOT DELTA PT 4X80 TORXPLUS
STATOR 230V

MOTOR HOUSING

CARBON BRUSH
CARBON BRUSH HOLDER A3

CARBON BRUSH COVER

SCREW EJOT DELTA PT 4X12 TORXPLUS
CARBON BRUSH COVER WITH LIBELLA

incl. pos. 2,72,73, 80

status: 2025.03
replaced: 2021.08

qty

Maschinenfabrik OTTO BAIER GmbH, Heckenwiesen 26, D-71679 Asperg
Phone: +49 7141 30 32 0 Fax: +49 7141 30 32 43; email. info@baier-tools.com 1/3

PNRPNNRPRRPNRPRRPRPRPRPREPREPREPNRPRPNWORRPRPRPRPRPARRRRRERREPRPREPREPRRERER



POS
47
48

49
50
51
53
54
55
60
61
62
63
64
65
66
67
68
69
70
71

81
82

83
85
87
88

90
91
92
93
94
95

IDNR
25221
58644
73197
9668
17913
20990
44941
35055
24844
9784
32607
9264
9263
48504
48918
62331
48280
48249
15313
49684
6809
59725

61556
59543
10046
10483

8976
31088
48512
14290
43216

69468
63073
6471
74179
15453
8495

BDB825
BAIER ID-Nr.: 59832

from Masch.-Nr. 26879
also for Id. 10047, 10484 & 8983

DESCRIPTION

ANTI-KINK SLEEVE

CABLE WITH PRCD SWITCH /PE

CABLE WITH PRCD SWITCH /PE 3x1,5mm?2
CABLE WITH PRCD SWITCH /PE 3x1mm?2
CABLE BRIDGE

SCREW EJOT DELTA PT 4X16 TORXPLUS
SCREW EJOT DELTA PT 5X40 TORXPLUS
ELECTRONICS

SWITCH

CAPACITOR

HANDLE CPL.

ELASTIC PUFFER 6,4

ELASTIC PUFFER 10

CONNECTION CLAMP 1-P

PROTECTIVE CONDUCTOR

WASHER M4 DIN433 GALV.

SPRING RING A4 DIN127 GALV
HEXAGONE SCREW M4X6 DIN7984 GALV
HANDGRIFF PA 210MMLG

HANDLE EXTENSION

SLIDING RING

DUST SUCTION PIPE

NOTIFICATION SIGN (SOFT IMPACT)

TYPE SIGN

TYPE SIGN

TYPE SIGN

TYPE SIGN

COMPANY SIGN

GROUNDING MARK YELLOW / GREEN PVC
WRENCH SwW41

WRENCH SW36

WET ADAPTOR (optional)
O-RING 44X2,5
CENTERING PIN
CENTERING PIN
SHARPING PLATE

CASE TOOL

status: 2025.03
replaced: 2021.08

for Id. 10047
for 1d. 10484 (CH)

add on order: pos. 65 (4x) and pos. 66 (1x)

for Id. 10047
for 1d. 10484 (CH)
for Id. 8983 (KR)

for BDB825 with wet adapter
for sinker
for coring

Maschinenfabrik OTTO BAIER GmbH, Heckenwiesen 26, D-71679 Asperg
Phone: +49 7141 30 32 0 Fax: +49 7141 30 32 43; email. info@baier-tools.com

qty

PR RPRRRPRRPRRPRPRPEPARPRRERERINOGER

PR NNRRRPRPR

[N



ZUBEHOR ID-Nr. | POS

BA. E R ERSATZTEILZEICHNUNG ACCESSORIES ‘ '
SPARE PARTS DRAWING Zen’rmershf’r D‘ose_nsenker 6471 99
centering pin sinker

Nass—Trockenbohrmaschine Zentrierstiftf Kernbohren
ELEKTRO WET—DRY CORING centering pin drilling 179 93
WERKZEUGE Scharfplaffe 15453 | 94
BDB825 ab/from MaNr. 26879 sharping plate
" Transporfkoffer 8495 95

IDNR. 59832 tool case
Trocken- und Nassbohrkronen sowie

Verlangerungen sind unter Zubehor zu
finden

dry- and wef- core bite as well as
extensions can be found under accessories

Stand/status: 2025.03
ersetzt/replaced:2021.08




